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Mathematics

A

91. 22222222 +22.=7?

I

(1) 1111 ©(2) 110101 (3) 1010101 (4) 111001

92/ Wﬁat is the next number in of the number sequence
1,2.3,5.8,13.21.34.55.89, ......... ?

(1) 90 (2) 103 (3) 127 (4) 144
_-"i"‘
_93.,' i‘\lnuradha made a cash down payment of Rs.88,800 for her new
*tkcooter and paid rest of the amount in sixty equal instalments of
;'-RS'7520' How much would she have paid, had she decided to pay

"__'100 instalments of equal amount.

(1) Rs.4500 (2) Rs.5400  (3) Rs.6500 (4) Rs.6450

94.. the place value of zero in 1341.01 is-
| (1) Hundreds (2) Tens .(3) Units (4) Tenths

. |
95. Surjeet bought 48 packets of red baloons, 66 packets of blue
R ‘-‘baloons and 35 packets of yellow baloons. Each pack contained a
.. dozen baloons. He mixed them up and gave away 213 baloons.
\Then he repacked the remainder into packets of 25 baloons each.

" How many packets of baloons did he repack?

(1) 63 (2) 57 38 @72
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96 “Rama gave her cousin ; of her stamp collection. She gave her

sister - of the remainder and had 96 stamps left. How many:

Wl

stamps did she have at first?
(1) 240 (2) 360 (3) 570 (4) 720

97. ABCD is a rectangle of perimeter 48cm. with AB = 6cm and CD =
. DE. What is the area of the triangle ACE?

A E D
(1) 18cm? (2) 24cm? (3) 30cm? (4) 36cm?

98. Suman and Harpreet had some money in the ratio 5:2. Suman had
-~ . Rs.300. If Harpreet’s money consists of only 5 Rs. coins, how

) many coins did Harpreet have?
L (1) 60 )32 - . (3) 24 (4) 18

-.29.  Which point is NOT labelled correctly on the number line?

.“I ; " = Q K 5 T
’ «1 -08 0 Y 2 243 35 4 y
_ '_E _ i
p ) Q R s T
(1) Q 2) R 3) S ' 4T
:,f.-
32



101.

102.

Powered By

box at the street. Which of the following measurements could be

correct?

(1). 30 millimetre (2) 30 centimetre

('3)-:’--30 metre (4) 30 kilometre
g

A car travels from A to B and then to C. The car takes 3 hours to
travel from A to B at an average speed of 42 km/h. It travels 128
kmifrom B to C at an average speed of 64 km/h. If the car takes a

total of 5 hours, what is the average speed of the car travelling

from A to C?

}
(1) 55km/h (2) 22 km/h

(3) 50.8km/h - (4) 53 km/h

=

Thg diagram shows 4 squares. What percentage of the biggest

square is the smallest square?

{

&

/
VY \

(1) 37.5% 2) 5% .
(3) 12.5% (4) 6.25%
\
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103. A container wasy filled with water. When 1.41 of water was

poured into the container, it becomes - filled. What is the

capacity of the container?

Y ) 82l 2) 1261

(3) 14.81 4) 16.81

104. Sher Singh bought some 0ranges and apples. Oranges were bought
at 7 for Rs.50 and apples at 5 for Rs.30. If Sher Singh spent an
5 equal amount of money on the apples and oranges, what was the

least number of fruits he.-bought?

1. 12 @ 21
| v ® 25 (4) 46
i
i t"

+ 103. Three-fourth of the number of girls in 2 school is equal to half of
i the number of boys. If the school has 1420 pupils, how many of
them are boys? _
(1) 852 boys (2) 720 boys
(3) 568 boys (4) "284 boys

.,106. Which of the numbers 12,16, 18, 20 divides completely the
number divisible by both 8 and 3?
(1) 12 E (2) 16
(3) 18 4 20

a3 34




Powered By

annuaf income is Rs. 72300, what are her annual savings?
(1) Rs.24100 (2) Rs.21087.50
(3)° Rs.18075 (4) Rs.12050

108. The given figure is formed by two squares, the side of each square

is a whole number. If the area of the figure is 58cm?” , what is the

" perimeter of the figure?

fas
B S
o ‘

{1y 34em (@) 37em (3) 40cm (4) 46cm
1
109. V{hxch digit is at the thousands place in 2750.16.
€5 )5
'§3§): 2 4 0

‘) 7 _ . ) :
110. I_H%IOW many ways, - can be written as a sum of two fractions in
1.
.

' ho{vcst terms, given that denominators of the two fractions are
different and each is not more than 12?

(1) Two (2) Three
(3)‘ Four (4) Six

111. Which of the following numbers is divisible by 2,4, 6 and 8.

(1) 534800 (2) 543888
(3) 534810 (4) 542316
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112. What is the sum of all the interior angles of the figure?

Q
2 m
(1) 270° (2) 360°
S (3) 450° (4) 540°

113. The given figure is made up of three rectangles. The area of each

rectangle is given. If AB = 8cm, what is the length of BC?

A : B
e . c
48cm’ 2
" g 32cm
1 -. 16cm’ .
B }'_'
‘%, (1) 3cm (2) 4cm
% (3 6em (4) 12cm
]
114. Which of the following is not equal to li ?
") 125 ) 12.5%
gt g 5 10
- 3) 3 . T

115. On simplifying 2*(5-6) (22 + 9, what do you get?

(1) 14.35 (2) -5.25
(3) -4.89 (4) -2.89
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(1) Square - (2) Rectangle

(3) ° Rhombus (4) Trapezium

iff 1+ B A
A 15 x ) 17 = ¢

: wil;ler and the contents mixed in a bowl. What is the ratio of milk
- #m'd water in the bowl]?
: ’1: 3
® 2:7 & 5:12
) 5:13 ' “4) 7:17

119. What is the ones (or unit) digit in 2323 _ 177

M o 2) 2

@) 3 @7
_.r 37
¥
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Environmental Studies

1

121.  The taste buds for bitter taste are present at the -

(1) centre of tongue.
(2). - back of tongue.
3) tip of Tongue.
4) edges of Tongue.

122.  For eating hard food items, Molar & Premolars are used because -

(D) they are flat.
{2) they are fixed firmly.
3) they are pointed.
“(4) they have less area to press.

123.  In a Pitcher plant, the Pitcher is made by modification of -

(1) leaf.

(2y  branches.
(3)' stem.

(49  flower.

124. Mélarial parasite is found in the -

. (1) salivary glands of Female Anopheles.
(2) stomach of Male Anopheles.
3) month of Male Culex.

'(4), proboscis of Female Culex.

125. In elbow and knee joints, the bones can move in -

(I).  all directions.
(2} four directions.
3 one direction.

(4) { two directions. »
126. '-W_hich part of the plant evaporates water?
(1% Stomata.
2> Fruit.
2(3) Branch.

(‘}), i Root.

39
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127 ‘Which fruit among the following has only one seed?

% (1) Fig

' (2) Banana.

W% (3 Mango. .
4) Apple.

_'128% Kathakali is a kind of - s

.5 (1)  dance —drama.

4& (2)  classical dance.

Y& 3)  drama.

% (4)  emotional dance.

129, Igloos are the example of -

a: (1) houses.

% (@)  sky scrappers.

1% (3)  boat houses. ) . e
i+ (4)  tents.

130 Carrot, Radish, Sweet Potatoes are the modifications of -

% (1)  stems.
% ()  roots.
7 (3) buds.
S @) branches.

' -ll3'1. At the District level disputes related to land/property are settled in the district
49 by -
-1 (1)  Superintendent of Police / Deputy Commissioner of Police.

. G 3 District Planning Officer.

'* (3) District Collector / Deputy Commissioner.

(4)  District Session Judge.

132. In the case of a road accident, the most valuable period of attention to the
victim is -
1A
: ) the first two hours.
2) the first one hour.
g he € the first hour in hospital. :
g (4) the first two hours in the hospital.

40
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(n somewhat below the surface.
(2) at the top surface.

(3) ¥=inder the deep soil.

(4) “*pear the water content of soil.

134.  Which of the following is not a celestial b.ody‘?

(1) Sun.

2) Moon.
3) Insat I1.
(4)  Saturn.

G |

135. Islam:_LQuran : : Hinduism : ?

(D Ramayan.

(2)  Upnishad.

(3) Rigveda.

@) Bhagwad Gita.

136. Which of the following is net an Air pollutant?

(1) Smoke.

(2) “Cabron Dioxide.
3) Nitrogen gas.
@ Sulphur dioxide.

137. If a map is in front of you, the East direction is shown -

(1)  at the top of the map.

2) at the bottom of the map.
(3) towards your right hand.
C)) towards your left hand.

138. In the map of physical geography the rivers are shown with -

§)) gray colour.
2 green colour.
(3)  blue colour.
6] white colour.

41
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139. The lowest strip of the Indian National flag is of -

; (1) White colour.

) (2) Saffron colour.
’ 3) Green colour.
4) Red colour.

140. While reading a book, the ideal distance between the book and eye should be B

§)) 15 cm.
2 25 cm.
3) 35 cm.
4 45 cm.

L
A

! }; (1) Jamun. )a
i ., (2)  Eucalyptus. .

-#1. Which of the following is a gum producing tree?

-

i .. (3 Mango.

f ' ' 4) Guava. -

: _ . }142. By joining which of the following two stars and extending the line can the pole
I star be identified?

; “ i

E:{ _.

i ; 6 *
Rl »
il R
i.
b ] .
: i i Tk
g | s *
i
i 2,
T 4

gl i * :'.
i - §
o FA \ / ’
¥ |
| | SAPTRISHI / GREAT BEAR / URSA MAJOR
(1) 1%and2™
B @ 6%and 7"
@) 3%and4”
3 @ 5%and 6"
42
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143.  Lightening occurs in the sky when two clouds -

(1 collide with each other.
C 4P overlap each other.
(3)  out burst together.
4) exchange the electric charge.

144. While walking through the Zebra Crossing -

(1) first look towards right and then left.
(2)  first look straight and then right.
(3) first look towards left then right.
«(4)  first look straight and then left.
*
145, "Water in earthen pot remains cool due to -
§
"(1) condensation.
" £2) evaporation.
~(3)  sedimentation.
.4 sublimation.

146. Which one of the followﬁhg is not an Indian national symbol?

/(})  Lotus.
- (2) Lion.
3 Elephant.

4 Peacock.
147. ' Moon changes its shape every day due to its movement -

(N around the Sun.
(2)  around the Earth.

- ()  from left to right in space. ,
(4)  from east to west in sky.

* 148, In‘yvhjch of the following, is a wheel used?
( 1');1- Making pulley.
(2)’ Movement of Animals in Jungle.

(3)  Cutting plants.
4 To fill air in foot ball.
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I49;|’; Which one is not a means of communication?
ok

i -'( I)  Television

? (2) Mobile phone

t (3) Postoffice

(4) Inland letter

15‘5 Which among the following is closest to Earth?

(1) Sun

(2) Moon

(3) Pole Star
@ Satumn

44
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Section - 1
Q. No. Key Q. No. Key
1. 4 1. 3
"R 1 18. 3
3. 1 19. 3
4. 1 20. 2
’ - 4 21. 2
6. 2 y .3 2
; 2 . 3
» 8. 1 24. 3
9. 3 25. 2
10. 1 26. 1
\ it 3 77. 3
- & 12. 4 28. 2
K 13 2 29. 2
X, 14. 2 30. 3
TS - 3
16. 2
Section — 11 Language 1 Hindi
Q. No. Key Q. No. Key
31. 2 46. 3
32. 1 47. 2
: 33. 3 A8. 2
34, 1 49. 3
35. 1 50. 2
36. 3 £1 2
‘ 37 1 . 5B 4
38. 2 53. 4
39. 4 54. 1
40. 1 55. 1
41. 2 56. 2
42. 1 57. 3
43. 1 58. 2
44. 3 59. 3
45. 2 60. 1
8
4
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S&;ctlon | L:;nguage 1 English

. No. key Q. No. KEY
. 31, 2 47. 2
432 3 48. 3
. - S 1 49. 4
A4 3 50. 1
335 2 51. 2
i3
. ;‘,‘-%3-,6 3 52. 4
& 1 53. 1
313 4 54. 2
39, 1 55. 3
 40. 2 56 2
441, 4 7. “w 3
k. 4 58. ]
' 43. 2 59. 2
44 4 60. 4
rl
45. 3
46. 2
.. Section II — Language 2
i ENGLISH
" [Question Number | Key Question Number Key
; 61. 4 ! 76. 3
o 63. 2 78. 2
iy 64. 4 79. 4
-k 65. 3 80. 3
66. 2 81. 3
67. 3 82. 2
68. 1 83. 4
69. 3 84. 4
70. 2 85. 2
71. 2 86. 3
72. 1 87. 3
73. 1 88 2
74, 2 89. 4
75. 2 90. 2
- 46
.]..
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Section I - Language I1 : /

Hindi : 3 E
| Question Number | Key Question Number | Key o ‘
Wl B1. 1 76. 5 1
i 62. ! 77. 4

63. 4 78. 1
64 2 79. 4
e BB 3 80. 1
; 66. 2 81. 4
" 67. 3 82. 1
L 68 3 83. 3
b 69. 1 84, 3
5 70. 4 85. 3
s TN 2 86. 3
N 7 1 87. 2
13 3 88. 3
74. [ 89. 2
75. 3 90. 3
:Section IV o
Mathematics
Q.No. Key Q.No. Key
01. 3 107. 3
92. 4 108. 1
93.. 2 109. 3
94. 4 110. 2
- 95. 1 111. 2
96. 1 . 112.
97. 4 . 18 2
98. 3. 114. 2
99. 3 i15. 2
100. 3 116. 4
101. 3 117. 4
102. 3 -118. 4
103. 4 119. 1
104. 4 120. 3
105. 1
106. 1
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Sectign V _
2

. * Question . Key Question Key

B 2 136. 3

.t]:g 122. . 2 137. 3

' _.‘-':._‘ﬁ 123. 1 138. 3

G124, — 139. 3

' 125. ¢ 3 140. 2

126. 1 141. 2

3 127. 3 142. 1

128. 1 143. -

.’_' 129 i 144. 1

130. 2 s 145. 2

131. 3 146. >

132. 2 147. 2

133, 2 148. 1

134. 3 149. 3
R 4 150. .
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